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Welcome to Locked Out Math: Dr Medunefer’s Riddle. This is a fun locked room experience that is
Egyptian/archaeology/Indiana Jones themed. In the room students are searching for a lost archaeology
professor who has run into some trouble. This locked room is designed for grade 8+ students, and I've found
great success using it with grade 8-12 students. Some of the concepts students will need to solve the puzzles
are listed below:

e Systems of equations (two by two systems up to four by four systems)
e Logic and Reasoning
e Pattern Recognition

The entire experience should take about 1-2 hours. Students often need some prompts to get started like
“why are there exactly 26 characters here”, “You need to find the starting point on the map”, or “What’s
that beeping in the video?” There is also a scannable QR code on the map to the video/puzzles if students
want to finish for homework.



INSTRUCTIONS

The goal of the locked room is to discover Dr. Medunefer’s coordinates on the map. This
is done by finding the cell that corresponds with a correct solution for a row/column pair
(© = 15). All the materials needed are listed below:

e Description: Describes the story. I recommend printing one large copy for everyone
participating.

e Map: This is a map with that should be printed for each group participating (print on
the backside of the description to save paper). This is the same map that is shown in
the ‘transmission video’. There is also a black and white (optional) map that can be
used for scratch work by students.

e Equations: These must be solved in order to determine the starting point on the map.
The cell with the correct number (row) corresponds with the correct symbol (column)
is the starting point. There is a unique starting point.

e Ciphers: There are three ciphers used in this puzzle, two are alphanumeric (braille,
and morse). Both are two rows of 13 corresponding to letters of the alphabet. The
third links the alphabet with multiples of three.

° : This gives the transmission with provides the directions (left,
right, down, up) to follow, and the morse code which translates to ‘sum digits for final
answer’. You can either put this on a TV, or stream to audio and print out maps.

e Solutions: Shows all the values for all systems of equations, and how the alphabet
cipher works. It also shows the path taken on the map, and the final ‘sum’ answer.


https://www.youtube.com/watch?v=ZoHXDhLJLfU

DRrR. MEDUNEFER’S RIDDLE

Your mentor, Dr. Medunefer, has left on an expedition
to unearth the fabled “Shrine of Akhethetep.” He has
left you an approximate map of the site his team has
excavated and has radioed a message - they're in trou-
ble. It appears their team has inadvertently sprung a
booby trap and need your help. Dr. Medunefer esti-
mates they have about an hour left until it’s too late.
However, to prevent the secret of the shrine from falling
into the wrong hands, he has hidden the exact location
within a code - he has ingeniously hidden instructions
within his cry for help. You have one hour to decipher
his message and locate the shrine.
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0> 421 +7=28

2> 43T +7=06
3> 427 + 27 =7




S>mM—+10vy=0
m—+ 3y =0



20 4+ O 4+ X+ 2u=>51
30 + O 4+ 2\ + u=062
40 + O + A+ 3 =88

O+ O+ A+ =29




0+ o0=2
4o + 30 =8



411 = 30
oIl =23
211 =27



2) =31
- 4h =37
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X+ta+5+0=56
2y + a + 38 + 50 =18
3y +a+ 68+ 0=15
I +3a+ 5+ 0=12
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